EJERCICIOS DE
DEDUCCION NATURAL
CON REGLAS SIMPLES

Ejercicio1 |— —p
1. peg p
2. gofr p
3. —r p
Ejercicio2 |— p
1. @ar)—-p p
2. s—q p
3. tor p
4. sat p
Ejercicio 3 |— —sA—t
1. =(qur) p
2. toq p
3. sor p
Ejercicio4 |— —s
1. g—>—r p
2. r p
3. —=svq p
Ejercicio 5 |— r
1. por P
2. toq p
3. pvt p
4. —q p

Ejercicio6 |— p
1. g-p P
2. tvs p
3. —t p

4. s—>(qar) p

Ejercicio 7 |— q
1. —pvq p

2. —pot p

3. —t p
Ejercicio8. |— —q
1. (pvg)-r p

2. —r p
Ejerciciod. |— p

1. pe(aqvs)  p

2. q p

Ejercicio 10 |—| p

. @vr-p »p

2. s—q p

3. tor p

4. svip

Ejercicio 11 |— —p
1. p—(qvr) p

2. —q p

3. —r p

Ejercicio 12
1. qo-r
2. rv(sat)

Ejercicio 13 | — —pvs

1. pot

2. t>—q

Ejercicio 14
1. gqep
2. tas

3. s—>(qar)

Ejercicio 15

1. p< —(qvr)
2. gt

3. ros

4. —SA —it

Ejercicio 16

1. (p—q)vr
2. —(p—g)at
3. tos

4. (tan-q

p

p

p

|—p

|— «q




SOLUCIONES

Ejercicio 1 |—| —-p

4 —q MT 2,3
5 poq RB1
6. —p MT5,4
Ejercicio2 |— p

5 s EC4
6. t EC4
7. g MP2,5
8 r MP3,6
9. qgar IC7,8
10. p MP9, 1
Ejercicio 3 | — —sA—t
6. —q EC4
7. —r EC4
8. —s MT3,6
9. it MT2,5
10. —sa—t IC7,8
Ejercicio 4 |— —s

4, ——rDN2

5. —q MT1,4
6. —s SD3,5
Ejercicio 5 |— | r

5 —t MT2,4
6. p SD3,5
7. r MP1,6

Ejercicio6 |—p

5 s SD2,3
6. qnar MP4,5
7. g EC6
8 p MP1,7
Ejercicio 7 |— q

4 —p MT2,3
5 q SD1,4
Ejercicio 8. |— —q

3. —(vg)  MT12

5. —g EC4
Ejerciciod. |— p

3. qus ID2

4. (qus)—p RB1
5p MP4,5
Ejercicio 10 |— p
5.qur RD234

6.p MP1,5
Ejercicio11  |— —p
5. —(qvr) DM 4
6. —p MT 1,5

Ejercicio12 | — —q
4. — (sAt) DM3

5.1 SD2,4

6. ——r DN5
7.—q MT1,6
Ejercicio 13 |— —pvs
4. ——q DN3

5. —t MT 2,4
6. —p MT1,5
7.—pvsID6

Ejercicio14  |—p
4.t EC2

5.5 EC2

6. qAr MP3
7.q EC6
8.q—p RB 1
9.p MP8,7
Ejercicio 15 |— p
5.—s EC4

6. —t EC4
7.—q MT 2,5
8. —r MT 3,6
10. =(qvr) DM9
1. —=(qw)—>p RB1
12. p MP10,11
Ejercicio16 | — ¢

5. =(p—0q) EC2

6. r SD6, 1
7.t EC2

8. tar IC6,7




